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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
Which one of the following is the smallest quantity : : Q.J)fcn,//’ﬁu’uj/cgﬂdf)'@ﬂ 1/'.0"’ :
5000 ng (D) 100 g (C) 0<02mg (B) 0-01g (A 1)
Change in Position is called : : 9(3”1'( LJ_'_!."" V- (ﬁl-,'.' )
Distance Aol (D) Displacement oo ~ud (O) Velocity 1y (B) Speed 4y (A)

Which of the following is the unit of Momentum

ey ¥ prasecUiditai (3)

Kgms” (0) Ns' (@ Ns (5 Nm (a)
The turning effect of a Force is /called : : UZ%’:[}‘&ILJH’J{ 4)

Work s (D) Pressure A4 (O Torque St (B) Momentum piwa 3o (A)

b e

bt I8l £ U100 4 sbe 10 6ms™2 o § ng E i 5

The value of "g" on Moon's Surface is 1 » 6ms-2.What will be the weight of a 100 Kg body on the

surface of the Moon :
1600 N (D) 1000 N (O 160N, (B) 100 N (A)

Rate of Doing Work is called : -84 L}Ji_/(( (6)
Momentum ')J'/r (D) Power sl (C)Torque Lt~ (B) Emergy (.7 (A)

In S.I., the unit of Density is : o 2K red UL SLE (7
fy ) it A Y ( ) )
g : 3

2 (© Kgm? (B) Kgm'® (a)

Kgm (D) Kgm

In 8.1, the unit of Specific Heat is e ¥ e JhSLL (8)

kg 'k @ 7lgk (©  Jkgx! () Kg 'K (A)

The number of process of Heat Transferred are < s J ot & )i 9)

4 Dy 3 (€ 2 (B) 1 (A
How many Divisions are in Vernier Scale of Vernier Callipers : : Sl n Z{ g}:cf."u e /‘/'tg/’fu (10)

50 (D) 40 (© 20 (B) 10 (A)

Gn 618 Ut (5 o 4 e Vg M f £ f ) (11
A ball is thrown vertically upward. Its velocity at highest point is :

20mst (D) 10ms? (@ 0 B) -1oms) (a)

Y ‘Lﬁbg G o s J }a;’ = dudfﬂ_f (12)

The number of Forces that can be added by Head to Tail Rule are

Any Number Af/ D) ¢ (© 3 (B 2 (W

b = v+ et = -

|
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, QNo.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. -u__'fl'/,u‘fyndn/:’ukz (Part 1) Jsle
' Find the number of Significant figures in 2100g. S § ur (U= 210-0g (i) 24y
What is meant by Vernier Constant? T*.)l/l_f = b‘”pj//lfl’ (ii)
Define Prefixes and give an example also. et ) Jjwﬁ e (iii)
How can Vector Quantities be represented graphically? ?c"—l:l:tgl_f/,'u;é UJS-_J\ ; s U!J'JJ’/“-{J (iv)
Define Speed and Velocity. —c”—-’/-e'f." J Sl sl Ly (V)
What is a Vector Quantity ? Give its one example. _’Z.Zvdﬁ'ug&ﬂ?‘a)'/ Y e s (vi)
Differentiate between Action and Reaction. -éug.aju:&fuj 2! ui{, (vii)
Why Rolling Friction is less than Sliding Friction? T+3nu:f (c_(f‘;uf)g’uf c;?u@!/ (viii)
Define Like and Unlike Parallel Forces. g § il B Gy 34Dy
When a Body is said to be in Equilibrium? Setbor U2 (f/u'_vgi wd () h1g (i) ‘
‘Deﬁne Axis of Rotation. -E’_-’:._g/"’ J u%/_iff-fl (iii)
What is meant by the Force of‘Gravitation? ‘.“a;f/g & w}f-"‘dzf (iv)
Differentiate between Natural Satelliterand Artificial Satellite. -éug&/' s A See sl si 1 (3/,:’ (v)
What is meant by Geo - stationary Orbit? ?c‘_,yt_f.;_‘,,ﬁd/‘:“,g (vi)
Define Power and write its unit, -’4‘!6 ARV Z’..g'/‘" g sk (vii)
How can you find the efficiency of a System? ?ugéfr)l”d:\.;T (j"‘)d:l J(“/of (viii)
State Hooke's Law. -éuy. Ui ¥ .; (i) 4/,‘U’/ ,
Define Density and Elasticity. _é._.yf" d/ C;f"w 2! (,H’S (ii)
Differentiate between Stress and Strain. _2_2551,0) Vs Lo @/’/ (iii)
Define Internal Energy. o -Ei.r._y/‘-" J J./'IJ}'I (iv)
Define Specific Heat and write its formula. -é_/ﬁb’/lib’gﬂ ! g__,y/"' J e 7 (v)
Describe two roles of Evaporation in our daily life. _éu[{;/bﬁ;u!&:j,/judmﬁJ'fq_;«.gl (vi)
Define Rate of Flow of Heat and write its equation. _é;‘fq:«l;l/Jw J)fé(h-éjiJC;’Jﬂ{,L:rJ'] (vii)
What is meant by Land Breezes and Sea Breezes? ?;.:I/l[;, d/(f 2! d/.r-) (viii)
18=2x9 (Part 1l) (138>
(4) With the help of Speed Time Graph prove that : : fé:/.k‘r-u J ..51/‘?3{»; (N 5.0y
5= Vit + L at?
2
6) e Pt unl unst sl e O3S 200 N FEWLUL 40 Kg i g e FIHL 3 ms i)
A Cyclist of Mass 40 Kg exerts a force of 200 N to move his bicycle with an acceleration of
3 ms'z. How much is the force of Friction between the road and the tyres?
4) e W dieud SIS L () 6 )
Determine the Mass of Earth with the help of Newton's Law of Gravitation.
) b EfY fe VB § 3 m ALl e 50 (L)
A body of Mass 50 Kg is raised to a height of 3 m.What is its Potential Energy?
i (4) What is meant by Young's Modulus ? Derive its equation. _é:GIOIJ\/JJ' ¢ c‘_)'/t_fa.uJ)ﬂ)E-(Jl) 7/1‘Uly
() ?c‘_lb’wwﬂfmvé’_éé_gf S O1-e20°C 4 € PedV 2+ 5aztdetl (L)
A container has 2 -5 litres of water at 20°C. How much heat is required to boil the water? :

--------- N 4 o — :
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Physics lII L.K.No.14 | Paper Code No. 5472 ” L}"(JA
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Time Allowed . X

¢ 15 minutes SSC (Part-1) <15 1=

Maximum Marks : 12 Session (2017 - 2019 ) to (2020 - 2022 ) 12 ¢ /J

é‘j-’/!cc{;k/:bcjbwt}fuvéylﬁyx)c.Ju;}b&fé:&.b&d’r/‘-{qb’g}lﬁ_ujéé, D,C,B,A .;‘Llj!,:le;éd”’ﬁ HRC
MW N2 I s S ST SN S Pkl
Four possible choices A,B,C,D to each question are given. Which choice Is correct, fill that circle in front of that question
number, Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark in that question.

Note :

Which one of the following is the smallest quantity : : +éﬁ;qz’ﬂdd£tﬁkf.56ﬂ 1/-JU”’
______________ 5000 ng (D) 1004g (C) 2mg (B) 0:01g (A) (1)
Change in Position is called : : ,GJW/ J."-’.‘/:"f“')%' @
............ Distance 1o (D) Displacement L“'W&:J.:.M:) (O) Velocity (s (B) Speed ¢ (A)
The formula of Velocity is : /712 1 gt (3)
v=h+t D) v=d+t (Q V=% (B) V=% (A)

bWl ¥ Jryds &L o Szr s e i (8)

Newton's First Law of Motion is/valid only in the absence of :

Momentum pdage (D) Friction gf‘; (C) Net Force (s’ (B) Force o (A)

The Number of Perpendicular Componerits of Vector are : : cl-JrI Il JU..*..,J_,J Gogae & 7 (f( (5)

4 (D) (5 @ 2 B 1

Value of " g" increases with the : : q_G"zd g "g'i (6), ‘
Increase in Altitude <224 (&t (B) Increase'in’ Mass of the Body <2 Ul ¥ () (A)
None of these uﬁ’&f;u‘:u' (D) Decrease in Altitude r_LMﬂjﬂ: ©
Mass of Earth is : PoebbrUlW et (7)

6x10%mg (D 6x102g (@ 6x10%Kg B 6x10%Kg (A)

D by $ e BYCAES L L ¥ 2 (8

The Kinetic Energy of a Body of Mass 2 Kg is 25].Its Speed will be
gl

50ms (D) 25msl (© 12:5mst (B) 5mel (&)

In S.I Unit of Pressure is Pascal which is equal to : : ‘abuu‘f’k.g 2! 4,&&..‘;2 K/'Z'.{;ﬂj’:/‘-‘l("’ )

2 .2 -2 4 &2
10°Nm 2 () 10°Nm 2 (© 1Nm 2 (B) 10°Nm % (a)

Do dned § e Lo (o Llee 2x10 K L watdl £ sugdangs LS4 (10)

-5 -1
What will be the value of B for a Solid for which o has value of 2x10 K ?
5 15 - .5 -1 .5 -1
8x10°K! D) sx10Bk?! @ 6x10KT B 2x10%T (a)
False Ceiling is done to : Pt s Leg i (11)

Keep the Roof Clean (3los=g (B) Lower the Height of Ceiling t/(ﬁ}l;"!'t;-"-f’ a)

Insulate the Ceiling t/2J,/1 /' =¢ (D) Cool the Room vk S (0
Land Breeze and Sea Breeze are the result of : Douidn E d/(';' - 64(-) (12)

Absorption 147 (D) Convection =% (C) Conduction f 4 (B) Radiation ISk, (A)

e ﬁﬁ%ﬁ ----------------------- J
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el ‘-3-'"-_;rs:,v.;_J;uu}j'.-.guz,-’l‘é,lz: (5-5)C s = & A 3 2y« 2 AIwUio 4 el ?’
en ¢ 34dr S7 G Sn Az A o (3687 g /S
Note

TOIt s compulsory to attempt (5—35) parts each from Q.No.2, QNo.3 and Q.No.4 and attempt any (02)
Questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

Make Diagram where necessary. ([ hpﬁfxdu/’ukz (Part I) (JJL»”

O
{ Define Base Quantities and Derived Quantities. “E 7§ s Usisle (i) 2/
|Lhanwe 16 Year Age in Seconds. -c{cjk P2 !(/ g Judr (i)
u\\nte the name of four Derived Units. d?'téurﬂ 3P s (iii)
:De:me Acceleration and write its unit. ¢6 L 61 sl é...,u/’ b( u"“‘" Al (iv)
| Define Speed and Velocity. “Eyf § S Ly )
.Detme Distance and Displacement. -éu_l} b( d,-.‘-.-u«L.aS s Lol (vi)
l‘:otate the Law of Inertia. -ZEL wIT ¥ A (vii)
‘Detme Momentum and write its unit. 46../:' g1 ot .’_(-.d/‘ JM}A (viii)
’Derme Principle of Moments. -c’;-.d/" J J"‘:’_J!Jv),; (i) 3/fULV
iHow Head to Tail Rule helps to find the Resultant of Forces? ‘.“LL'/LC)J(JL)/}" Sxiy € M Juu""‘jf’ (ii)
i“'hen does a Body is said to be in Equilibrium? “Lbn.fdf/d){l()_fdf (iii)
: cﬁg't ¥ s (Ls ] ":'_)/lf.:-_ 0= (iv)
.‘\'hat is meant by a Satellite ? Write thé“one name of a Natural Satellite. i
:\\ hat is meant by Force of Gravitation? <.’€_;l/y’ &= w}ﬁd,gf (v)
'On what factors, the Orbital Speed of Satellite depends? ?‘;_Jx,v’{u,gu{;‘,ﬁféu:‘;&_ﬁ;wf (vi) ;
ADeune Energy and give two types of Mechanical Energy. L&Vl w J EASE ébg!/"' Sax (vii) :
l“'hat is meant by Efficiency of a System? S bbU u"")(j_'! g (L/gf/ (viii) :
What is meant by Atmospheric Pressure? SV = /‘.{Jf’b"-l (i) 44 |
What is meant by Elastic Limit? Sealp o LBy (i)
lDefine Density and write its unit. c;"{/l( naztsg £ &5 (iii)
| Define the terms Heat and Temperature. -é_.ij" § b g ,f/ s =7 (iv) :
Define Specific Heat Capacity and write its equatiorn. dﬂ .J;wd, F1 sl é.ﬂ/ J ‘/L/ B34 (v) ‘
What is meant by Evaporation? fes /Lf:-cﬂjg;{‘l (vi)
What is meant by Convection Current? ?‘c.Jl/Lfc_&fu:@/ (vii) !
Why does Land Breeze blow in the night? ?hac&w.f:i:ﬁ_-,bdsz (viii)
18=2x9 (Part Il) (334> E

(#) Describe any four differences between Mass a.nd Weight. ,_éul_/. o/ s ;Jf L is st gL () Sﬁf’d,,
;;x Fus 7 u,,, ) V;/L.—.:.n:.xdc. /l£ 0+2ms A ..:"_-..'/i)":,__a 10 1:!15-1 G d/ (L)
1) e

A Car has a velocity of 10 ms 1. It Accelerates at 0+2ms for half minute. Find the Distance

T

(1) -’;f':":'"’ JHE K uv(uji' Luj:\,‘g/f (&) 6/%}1,/
Calculate the Mass of Earth with the help of Law of Gravitation.

(5) -Lr*”_.....u..fd:u; Ll fi -J'J ¢ 30° AL x- ax:lsuji ¢ 50N (L)

ol

!

i

]

)

|

I

!

i

i

!

: travelled during this time and the final velodty of the car.
1

!

!

!

!

!

!

i

: Find the Perpendicular Components of a Force of 50 N making an angle of 30° with x - axis.
i

4) What is Young’s Modulus ? Derive its formula S ¥ % 'J/ 33 S50 () 741
)

bt il S L A5 L i & e L&, 40°C 1y €l snr 12 1 2m’ 415 415 Cg-c_z/-_f ()
5) -93-57x10'31<'1;2 &

0 -
f A Balloon contains 1 -2m3 air at 15 "OC Find its volume at 40 C. Thermal Coefficient of
[

i -3 -1
! volume expansion of air is 3+ 67 x 10 'K

B —

. - . 3~ 1 "
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